MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

TWO DIGIT DECIMAL NUMBER 1;2?: Seomes
0 (0.7 x 0.024 = w05 (0 x (—0.0007) =
320 —0.06 x 0.071 = w07 (0.0008 x 4.4 =
393 0.004 % 3.9 = 108 (0.0007 x 0.81 =
500 —6 % 0.12 = 09 —0.6 x (—0.0076) =

15 (0.2 x (—0.0049) =
306) (.07 X 28 =

37 =9 % 0.0069 =

398 —0.01 x 0.0015 =
39 (0.003 x (—0.0006) =
100 0.08 X 6.9 =

w0 —0.06 x 0.093 =

02) —3 x (—=0.023) =
103) - —0.0005 x 0.0075 =
0y () x5l =

w05 —0.01 x (—0.088) =

Mathematics: Multiplication - Level 7 - Horizontal - Set 1
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—0.7 x (—0.084) =
6 x 0.25 =

0.009 x (—56) =
—0.0004 x (—6) =

—0.005 x (—0.0055) =
—0.004 x 0.072 =
0.001 x 0.0024 =

0.05 x (—7.8) =

—5 % (—3.3) =
—0.007 x (—60) =

4x5=
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